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ASSIGNMENT: Finding Area Between Curves
DIRECTIONS: To find the area between curves, calculate the total area of the 
bigger curve and subtract the area of the smaller curve.

If you have overlapping curves ƒ(x) and g(x) below, you can find the area by 
subtracting the smaller area from the larger area within your boundaries. In this 
example, we’ll find the area between the two curves from [0, 1].

Area between curves = ∫ [ƒ(1)dx – ƒ(0)dx ] –  ∫ [g(1)dx – g(0)dx]

1.) [SL-calc]

    i)

(Find = obtain an answer by showing relevant stages of working)
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2.) [SL-calc]
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Answer key: 

1) Area = 0.282; find doesn’t necessarily mean calculating the integrals by hand, 
but it does indicate you should show your steps even if the calculator is doing 
the heavy lifting

2) k = –0.201
    asymptote = the line the graph approaches but doesn’t cross (you can find it!)
    area = 19.5


